Best model for HELP J143811.957+351830.051 at z = 0.527 x?=4.52
OPTx?=3.39 IRY2=11.89 threshold (OPT IR)=12.22 [um]

2 : Stellar attenuated
10 3 N et Stellar unattenuated
] : —— Dust emission
1] —— AGN emission
10 = Model spectrum
] ® Model fluxes
100 4 M oObserved fluxes
'; 3 ]
ENT L
FU Ny
5 1072 5
[T 3
1073 -
1074 4
407" ;
z 1
© 1 == (Obs-Mod)/Obs
3 ]
S ]
s ]
& o+--+-HAtF-4-t1---------H#4--4------=-——— -
hat ]
) ]
2 ]
S ]
f_U—l T T T T T T T T T T T CIGALE
& 10° 10t 102 103 104 al

Observed wavelength [um]



